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Distribution

- A symmetrical data distribution where most of the results lie near the mean
« The standard normal distribution has two parameters:

a) The mean-o
b) The standard dewatlorﬁ’
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Empirical Rule
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The empirical rule or the 68-95-99.7 rule is called the Empirical Rule because the rule
originally came from observations (empirical means “based on observa’tjon”). o
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- 68% of the data comes in one standard deviation of the mean.
- 95% of the data comes in two standard deviations of the mean.
« 99.7% of the data comes in three standarddeviations of the mean
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The null hypothesis: A seller Collect Your Data

thinks customers eat an
average of 10 pieces

* Collect your observations, making
sure they are random. For this
example, the observed average is

e Alternate: You think the 14.5 pieces
\ average is much higher —

100
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Average = 10 pieces

Probability of observations
(i.e. probability of x number of pieces eaten)

Observed result 14.5
pieces_
0 !

6 8 10 12 14

e Uil es Number of pieces eaten Very unlikely obs.
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Example {F Gearorh
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Test the result (avg=5.6)]

s the result significant?]

* Set your significance level (é%\ — ~N
in this example), then run your * p>.10: Not s!gnlflca.nt -
test. For example here z-test * P<.10: Marginally significant

was run - * _p<.05:Significant
If p<.01: Very Significant
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50% i 95% Significance Threshold

Average = 10 pieces Probability value
(Observed) is this area to the right

of the observed result. For this
example, the area is 4.9% (.049),
which is significant.

Probability of observations
(i.e. probability of x number of pieces eaten)

Observed result 14.5
pieces
|

6 8 10 12

o) U o Number of pieces eaten
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